FR28F3FRESD

EXHOBSHREAERRBER

(F3L/hERR]
BIERR
i BT (K¥F4) | BIEAHB Bfi:p Sv/h

HFSecm [#1FRS50cm| HFEIm
MILE— IR ZRHT 3A 168 0.06 0.07 0.08
ML Z/INVERR FEH 3A 7H 0.09 0.08 0.08
MILE = /NER =T 3A 1580 0.09 0.08 0.07
3L 5 /N FEAHT 3R 25H - 0.10 0.08
ML FER/INER R [R T 3A 15H 0.08 0.07 0.07
ML NVER SxraET 3R 15H 0.05 0.05 0.06
I B E/NER WAL ET 3A 148 0.07 0.06 0.06
ML/ INERR INE I ET 3R 15H 0.07 0.07 0.07
3L 5 /INVERR B Ry 3A 11H 0.08 0.07 0.07
ML E+/NER Pk 3R 14H 0.08 0.08 0.08
ML/ HFH 3R 14H 0.09 0.08 0.08
M ILFE/NEAR 75 H 3A 25H 0.08 0.09 0.08
ML ER/NERR SRHET 3A 11H 0.06 0.06 0.06
L8R )I/NVEAR Ed LL: ] 3B 1H 0.08 0.08 0.07
ML FR/NER EEHE 3R 15H 0.09 0.08 0.08
MILEH/PNER Re 157 3A 258 0.09 0.09 0.09
3L KB/ AR h ¥ 3B 8H 0.09 0.08 0.08
LB /NERR [RiF 3A 108 0.09 0.08 0.08
3L B/ & 3A 11H 0.08 0.07 0.07
MBI/ ERR FH 3R 14H 0.09 0.10 0.09
IR UM T®EIW 3R 15H 0.09 0.08 0.08
ML ILSF /IR s 3R 14H 0.10 0.10 0.11
AL BUR/INVERR V3 [iR BT 3B 8H - 0.06 0.06
MILE LR INIL 3A 11H 0.06 0.06 0.05
MLk /DR BHER 3R 10H - 0.07 0.07
MIFARNER |BEOH 3A 25H 0.08 0.07 0.07
ML B H/INVER = 3R 28H 0.08 0.08 0.08
M EE —/NER |BURTE 3A 25H 0.08 0.06 0.06
MIEESE —/NER |BELE 3A 1H 0.08 0.07 0.08
MIABERE=/NER |BEER 3A 118 0.04 0.04 0.04
mirElui/hER  |[RE 3A 7H 0.08 0.08 0.08
I A ED L0 /NS MR 3A 148 0.09 0.10 0.09
ML ARV RAE 3R 14H 0.07 0.07 0.07
mIAELNER (A8 3A 158 0.09 0.09 0.09
MILFRRNER  [FKR 3R 15H 0.08 0.08 0.08
MIKERNER |ERHA 3A 238 0.07 0.07 0.07




